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1. The value of2t+5tis
(i) 8t (ii) 6t (iii) 4t (iv) 7t (v) 10t

2. The value of (=5¢t) +6t+2t+(—6¢t)is
(i) (=5¢8) (i) (=4¢t) (i) (=28) (iv) (=38 (v) O

3. The value of (=5b%) +3b2 + b2 is

(i) (=b2) (i) (=3b2) (i) 0 (iv) 2b% (v) (=2b2)

4. The value of(—5/4) +8/4 +5/4 +4/4 is

(i 124 @iy 134 Gii) 114 (v) 154 (v) 9

5. The value of(=7n—6) +(9n+8)is
(i) (n+2) (i) 2 i) (4n+2) (iv) (2n+2) (v) (3n+2)

6. The value of(—4e?—3e—6) +(e2—-T7e—2)is

(i) (—2e%2-10e—8) (i) (—e?—10e—8) (iii) (-3e2—10e—8) (iv) (—4e?—10e—8) (v) (-5e2—-10e—8)

7. The value of (5e° +6e—1) +(7e>—2e2-2)is
(i) (15e°—2e2+6e—3) (ii) (9e°—2e2+6e—3) (i) (11e’°-2e2+6e—3) (iv) (13e°—2e2+6e—3)

(v) (12e°-2e?+6e-3)

8. The value of (=8X3 —7x+4) +(=x° +7x3=3x%) + (4x° +3x%=5) + (—8Xx° +5x2 +7 x) is
(i) (=6x°—=x3+5x2—1) (ii) (—4x°=x3+5x2—-1) (i) (=7x°=x3+5x2—1) (iv) (=5x°—x3+5x2—1)

(V) (=3x°—x3+5x2-1)

1 3.
9. The value of-f+—fis
2 5
13 11 11 9 11
i) —F (ii) —F (iii) —7F (iv) —F (v) —fF
()10()12()8()10()10
1 1 1 4
10. The valueof-U+—-Uu+—-U+—-Uis
5 2 2 5

(i) 4u (i) 3u (iii) 2u (iv) 0 (v) u
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13.

14.

15.

16.

17.

18.

19.

20.

21.

Thevalueof3m +2m +2m is

5 7 7
(i) 3m? (i) m? (i) >m2 (iv) =m2 (v) —m2
3 5 3
1 1 1 3
The value of /4 + /4 + =4 +=/4is
T
23 19 21 25 17
. ) .4 . -4 .4 . .4 ) .4
(i) 10/ (ii) 10/ (iii) 10/ (iv) 12/ (v) 8/

The value of(—=m) —(=5m) is

() 3m (i) 4m (i) 2m (iv) 5m (v) 6m
The value of 762 —7b6%2 —5b2 is

(i) (=6b2) (i) (=5b2) (i) (—4b%) (iv) (=7b%) (v) (—2b2)

The value of2r3 —8/3 is

(i) (=573) (i) (=77°3) (i) (=873) (iv) (-=6/°) (v) (—47°)
The value of (-2¢°) —=8g° —(—3¢°) is
(i) (-10¢°) (i) (—64°) (i) (—4¢°) (iv) (-7¢°) (v) (—8¢°)

The value of (8v—3) —(2v+5)is
(i) (6v—8) (ii) (5v—8) (iii) (8v—8) (iv) (4v—-8) (v) (7v-8)

The value of (3 W2+3W—7) —(5 W2+6W—7) is

(i) (=w2=3w) (i) (=4w?=3w) (i) (=3w) (iv) (=3w?2=3w) (v) (=2w?—-3w)

The value of(9y5+8y3—5) —(9y5+4y—2) is

(i) (5¥3—4y—3) (i) (7y3—-4y-3) (i) (9y3—4y—3) (iv) (11)3-4y-3) (v) (8y3—-4y-3)

The value of(—9m4+7m3—6m2) —(3m5—7m4+m) —(—2m5+4m4—9m) is

(i) (=2mP—6m*+7m3—6m?+8m) (i) (=-m°—6m*+7m3—6m2+8m)

(i) 2mP—6m*+7m3—6m2+8m) (iv) (=4m°—6m*+7Tm3—6m?+8m) (v) (—6m*+7m3—-6m?+8m)

1 1 .
The value of—a ——ais
3 2

(i) (—18) (i) (—18) (iii) (—13) (iv) (—18) (v) L
i 5 ii 4 iii g iv 6 V) o
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1 3 1
The value of —y2 —=~y2 == )2 is
2}/ 4}/ 3)/

I I N I NN VA A
(i ( 12)/) (i) ( 4y) (iii) ( 2y ) (iv) ( 1Oy) (v) ( 12}/ )

1. 1.
The value of =3 —==i3 is
3 3

(i) (=3) (i) (=1) (i) 3 (iv) 0 (v) 1
The value oflb5 —1b5 —2b5 is
3 3 3

2 2
(i ( 5 ) (i) ( 3 ) (i) (=262) (iv) 0 (v) ( 3 )

The sum of the terms6 ,(—4n),7 ,(—=9n) ,(=7n)is
(i) (=20n+15) (ii) (=20n+10) (iii) (=20n+13) (iv) (=21n+13) (v) (—-19n+13)

The sum of the terms7de,(—-7¢e),(—7de),9 ,3deis
(i) (3de—10e+9) (ii) (4de—T7e+9) (iii) (3de—7e+9) (iv) (2de—7e+9) (v) (3de—4e+9)

The sum of the terms(—3¢s),3s5,8q9s,(—6qgr),6qrsis
(i) (6grs—4qgr+5qgs+3s) (ii) (6grs—6qr+5gs+3s) (iii) (6grs—8qr+5gs+3s)

(iv) (5g9grs—6qr+5q9s+3s) (v) (7qgrs—6qgr+5qgs+35s)

The sum of the expressions(—9/+4),(/—6),(—=4/+8),(2/-8),(=i=1)is
(i) (=10/=3) (ii)) (=11/=6) (i) (=11/) (iv) (=12/=3) (v) (=11/-3)

The sum of the expressions(—2a+9b),(-7ab-10a) ,(-7ab-9),(—-6a—-9b),(ab+8)is
(i) (-=13ab—-16a—-1) (ii) (-13ab—-20a—-1) (iii)) (-12ab—18a-1) (iv) (—13ab—18a-1)

(v) (=14ab-18a-1)

The sum of the expressions(—18s+5),(s+6),(6s5+4),(35+4),(85+6)is
(i) 25 (i) 26 (iii) 24 (iv) 27 (v) 23

The sum of the expressions(—4gh+3g—6h),(—-3gh+3g—3h),(59h+39g—-5h),(29gh—-9g-5h),
(6gh+7g+7h)is

(i) (6gh+7g—12h) (i) (6gh+9g—12h) (i) (7gh+7g—12h) (iv) (6gh+4g—12h) (v) (5gh+7g—12h)

The value of (—4/k) +5/jkis
(i) 2jk (i) 4jk (iii) jk (iv) 0 (v) (—2jk)

The value of 202 e? +(-20%e?) +30d%e? +(-3d?e?)is
() 1 (i) 0 (i) (=3) (iv) (=1) (v) 2

The value of 7uvw + (—8uvw) is

(i) (=4uvw) (ii) 0 (iii)) uvw (iv) (=2uvw) (v) (—uvw)



35. The value of(—o3p3q3)+903p3q3+(—3o3p3q3)+(—o3p3q3)is
() 30p3¢3 (i) 403p3¢3 (i) 203p3¢3 (iv) 603p3¢> (v) 503p34°

36. The value of (9¢c+10d—-9) +(14cd—-3c—-74d)is
(i) (15cd+6c¢c+3d-9) (ii) (13cd+6c+3d-9) (iii) (14cd+6c+3d-9) (iv) (l4cd+3c+3d-9)

(v) (l4cd+8c+3d-9)

37. The value of (=2b%c—7bc—9c—8) +(6b%c—8b+9c%—7c)is
(i) (4b%c—Tbc—8b+9c%2—-16c—8) (i) (3b%c—Tbc—8b+9c?—16c—8)
(iii) (5b%c—7bc—8b+9c2—16c—8) (iv) (4b%c—9bc—8b+9c2—16c—8)

(v) (4b%c—5bc—8b+9c%—16c—8)

38. The value of (tuv+7tu+5uv) +(—-7tv+9u—-7)is
(i) (7tu—=7tv+5uv+9u—-7) (ii) (tuv+9tu—T7tv+5uv+9u—-7) (iii) (2tuv+7tu—T7tv+5uv+9u—-7)

(iv) (tuv+7tu—T7tv+5uv+9u-7) (v) (tuv+4tu—T7tv+5uv+9u—17)

1 3 .
39. The value of —ef +—efis
2 4
5 5 5 3 7
i ef (ii ef (iii ef (iv ef (v efr
()4()2()6()4()4

3 1 1 3
40. The value of-4/<2/2 +-5/<2/2 +-2/<2/2 +-4/<2/2 is

13
5

(i) 9/<2/2 (ii) 175/<2/2 (iii) 151/<2/2 (iv)

7
K22 (v) —k?P2
5 3

1 3
41. The value of-5 opq + -4opq is

(0) 170 (i 190 (i) 210 (iv) 190 W) 190
i) - i) - iii iv %
20 Pq 22 Pg 20 Pq 18 Pq 20 pq

42. The value of(—2uv) — uvis

(i) (—uv) (i) (=2uv) (i) (=3uv) (iv) (—4uv) (v) (=5uv)

43. The value of 2tu —(—6tu) —7tu—5tuis
(i) (=7¢tu) (i) (=4tu) (i) (=5tu) (iv) (=tu) (v) (=3tu)

44. The value of(—5p2q2r2) - 8,02c72r2 is

(i) (=13p%¢%r2) (i) (=12p%¢?r2) (i) (=15p%¢%F2) (iv) (-=14p%q%2) (v) (=10p%¢%F)

45. The value of(—n202p2) —(—3n202p2) —(—5n202p2) - 7n202p2 is

(i) 0 (i) 1 (i) 3 (iv) (=3) (v) (-1)



46.

47.

48.

49.

50.

The value of (2k/—=7/-4) —(—=10k/+4k+9) is

(i) (12k/—k=7/-13) (ii) (13k/—4k—-7/-13) (iii) (12k/-7k-=7/-13)

(v) (11k/—4k—=7/-13)

The value of (-90p+8pg+4q) —(—50p+709—-9q) is
() (~40p—100g+8pqg+13q) (i) (—~40op—50q9+8pg+13q)
(iv) (=3o0p—70g9+8pg+13q) (v) (—d4op—T70q+8pqg+13q)

2 1 .
The value of —=rs ——rsis
3 2
(i) 1rs (ii) (—1rs) (iii) 1rs (iv) 1rs (v) 1rs
4 6 2 6 8
2 1 1 2 .
The value of —tu ——tu ——tu ——tuis
5 2 2 5
(i) 0 (ii) 2tu (iii) (=2tu) (iv) (=3tu) (v) (—tu)

35, 2 5.
The value of-4/2/2k2 - 5/2/2k2 is

. .2 .2 2 . 2 2 2 . 2 2 2 . 2 2 2 2 2 2

20

(12k/—4k—-7/-13)

(iii) (=50p—709g+8pg+13q)



Assignment Key

1) (iv) 2) (iv) 3) (i) 4) (i) 5) (iv) 6) (iii)
7) (v) 8) (iv) 9) (v) 10) (iii) 11) (iii) 12) (iii)
13) (ii) 14) (ii) 15) (iv) 16) (iv) 17) (i) 18) (v)
19) (v) 20) (ii) 21) (iv) 22) (v) 23) (iv) 24) (ii)
25) (iii) 26) (iii) 27) (ii) 28) (v) 29) (iv) 30) (i)
31) (i) 32) (iii) 33) (ii) 34) (v) 35) (ii) 36) (iii)
37) (i) 38) (iv) 39) (i) 40) (iii) 41) (v) 42) (iii)
43) (ii) 44) (i) 45) (i) 46) (iv) 47) (v) 48) (iv)
49) (v) 50) (i)
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